SOME REVERSE DYNAMIC INEQUALITIES ON TIME SCALES

R. P. AGARWAL[∞], R. R. MAHMOUD, D. O'REGAN and S. H. SAKER

(Received 8 March 2017; accepted 8 April 2017; first published online 17 August 2017)

Abstract

In this paper, we prove some new reverse dynamic inequalities of Renaud- and Bennett-type on time scales. The results are established using the time scales Fubini theorem, the reverse Hölder inequality and a time scales chain rule.

2010 *Mathematics subject classification*: primary 26E70; secondary 26D10, 26D15. *Keywords and phrases*: Bennett's inequality, reverse inequalities, time scales.

1. Introduction

The celebrated Hardy inequality for series (see [5], [7, Theorem 326]) asserts that, for p > 1, and $a_n \ge 0$ and $A_n = \sum_{i=1}^n a_i$ for $n \ge 1$,

$$\sum_{n=1}^{\infty} n^{-p} A_n^p \le \left(\frac{p}{p-1}\right)^p \sum_{n=1}^{\infty} a_n^p.$$
(1.1)

Hardy (see [6], [7, Theorem 327]) established an integral analogue of (1.1) which states that, for p > 1 and $f \ge 0$ over $(0, \infty)$,

$$\int_0^\infty \left(\frac{F(x)}{x}\right)^p dx \le \left(\frac{p}{p-1}\right)^p \int_0^\infty f^p(x) \, dx,\tag{1.2}$$

where $F(x) = \int_0^x f(t) dt$. The constant $(p/(p-1))^p$ in (1.1) and (1.2) is the best possible.

Copson [4] (see also [7, Theorem 331]) proved some new variants for the discrete Hardy inequality (1.1). One of his inequalities is

$$\sum_{n=1}^{\infty} \left(\sum_{k=n}^{\infty} a_k\right)^p \le p^p \sum_{n=1}^{\infty} (na_n)^p, \tag{1.3}$$

for p > 1 and $\{a_n\}$ a sequence with nonnegative terms.

^{© 2017} Australian Mathematical Publishing Association Inc. 0004-9727/2017 \$16.00

R. P. Agarwal et al.

Lyons [8] proved a type of reverse inequality for the discrete inequality (1.1) in the special case p = 2. Namely, if $\{a_n\}$ is a monotone nonincreasing sequence of nonnegative numbers, then

$$\sum_{n=0}^{\infty} \left(\frac{1}{n+1} \sum_{k=0}^{n} a_k \right)^2 \ge \frac{\pi^2}{6} \sum_{n=0}^{\infty} a_n^2.$$

Renaud [11] generalised the result of Lyons and established a reverse of the two Hardy inequalities (1.1) and (1.2) for an arbitrary exponent p > 1:

$$\sum_{n=1}^{\infty} n^{-p} A_n^p \ge \zeta(p) \sum_{n=1}^{\infty} a_n^p, \tag{1.4}$$

where $\zeta(p)$ is the Riemann zeta function and $\{a_n\}$ is a monotone nonincreasing sequence with nonnegative terms, and

$$\int_0^\infty \left(\frac{F(x)}{x}\right)^p dx \ge \frac{p}{p-1} \int_0^\infty f^p(x) dx,$$
(1.5)

where f(x) is a nonnegative monotone nonincreasing function (see also [9, 13]). In the same paper, Renaud proved a reverse of the discrete inequality of Copson (1.3):

$$\sum_{n=1}^{\infty} \left(\sum_{k=n}^{\infty} a_k\right)^p \ge \sum_{n=1}^{\infty} (na_n)^p,$$
(1.6)

where p > 1 and $\{a_n\}$ is a monotone nonincreasing sequence with nonnegative terms. Renaud also gave an integral analogue of (1.6) by showing that

$$\int_0^\infty \left(\int_x^\infty f(t)\,dt\right)^p dx \ge \int_0^\infty (xf(x))^p\,dx,\tag{1.7}$$

where p > 1 and f(x) is a nonnegative monotone nonincreasing function. Bennett [1, Theorem 2] proved for $p \ge 1$, that

$$\left(\sum_{j=1}^{m} \left(\sum_{k=1}^{n} a_{jk} x_k\right)^p\right)^{1/p} \ge \lambda \left(\sum_{j=1}^{m} |x_j|^p\right)^{1/p},\tag{1.8}$$

where

$$\lambda^{p} = \min_{1 \le r \le n} \frac{1}{r} \sum_{j=1}^{m} \left(\sum_{k=1}^{r} a_{jk} \right)^{p},$$

and Bennett [1, Theorem 7] also established the integral analogue of (1.8), namely

$$\left(\int_{0}^{a} \left(\int_{0}^{t} K(x, y)g(y) \, dy\right)^{p}\right)^{1/p} \, dx \ge \lambda \left(\int_{0}^{a} |g(x)|^{p} \, dx\right)^{1/p},\tag{1.9}$$

where

$$\lambda^p = \inf_{0 < t < a} \int_0^a \frac{1}{t} \left(\int_0^t K(x, y) \, dy \right)^p dx.$$

In 2005, Řehák [10] gave a time scales version of the classical Hardy inequality (1.2) in the form

$$\int_{a}^{\infty} \left(\frac{1}{\sigma(t) - a} \int_{a}^{\sigma(t)} f(s) \Delta s\right)^{p} \Delta t \le \left(\frac{p}{p - 1}\right)^{p} \int_{a}^{\infty} (f(t))^{p} \Delta t,$$

where p > 1 and f is a nonnegative function.

In this paper we establish new reverse dynamic inequalities and discuss inequalities (1.5), (1.8) and (1.9) as special cases. The main results will be proved using the time scales Fubini theorem and a time scales chain rule. The paper is organised as follows. In Section 2, we present the basic concepts on the calculus on time scales. In Section 3, we prove the time scales version of the reverse Hardy inequalities (1.5) and (1.7) due to Renaud. Finally, in Section 4 we prove the time scales version of the reverse inequality (1.9) with general kernel due to Bennett.

2. Preliminaries and basic lemmas

A time scale \mathbb{T} is an arbitrary nonempty closed subset of the real numbers \mathbb{R} . We assume throughout that \mathbb{T} has the topology that it inherits from the standard topology on the real numbers \mathbb{R} . The forward jump operator and the backward jump operator are defined by $\sigma(t) := \inf\{s \in \mathbb{T} : s > t\}$ and $\rho(t) := \sup\{s \in \mathbb{T} : s < t\}$ respectively, where $\sup \emptyset = \inf \mathbb{T}$. A point $t \in \mathbb{T}$ is said to be left-dense if $\rho(t) = t$ and $t > \inf \mathbb{T}$, right-dense if $\sigma(t) = t$, left-scattered if $\rho(t) < t$ and right-scattered if $\sigma(t) > t$. A function $g : \mathbb{T} \to \mathbb{R}$ is said to be right-dense continuous (rd-continuous) provided g is continuous at right-dense points, and at left-dense points in \mathbb{T} , left-hand limits exist and are finite. The set of all rd-continuous functions is denoted by $C_{rd}(\mathbb{T})$.

The graininess function μ for a time scale \mathbb{T} is defined by $\mu(t) := \sigma(t) - t \ge 0$, and for any function $f : \mathbb{T} \to \mathbb{R}$ the notation $f^{\sigma}(t)$ denotes $f(\sigma(t))$. We assume that $\sup \mathbb{T} = \infty$, and define the time scale interval $[a, b]_{\mathbb{T}}$ by $[a, b]_{\mathbb{T}} := [a, b] \cap \mathbb{T}$.

Define $f^{\Delta}(t)$ to be the number (if it exists) with the property that given any $\epsilon > 0$ there is a neighbourhood U of t with

$$|[f(\sigma(t)) - f(s)] - f^{\Delta}(t)[\sigma(t) - s]| \le \epsilon |\sigma(t) - s| \quad \text{for all } s \in U.$$

In this case, we say $f^{\Delta}(t)$ is the (delta) derivative of f at t and that f is (delta) differentiable at t. The product and quotient rules for the derivative of the product fg and the quotient f/g (where $gg^{\sigma} \neq 0$ and g^{σ} is the composition function $g \circ \sigma$) of two differentiable functions f and g are given by

$$(fg)^{\Delta} = f^{\Delta}g + f^{\sigma}g^{\Delta} = fg^{\Delta} + f^{\Delta}g^{\sigma}, \\ \left(\frac{f}{g}\right)^{\Delta} = \frac{f^{\Delta}g - fg^{\Delta}}{gg^{\sigma}}.$$

We can define the (delta) integral as follows. If $G^{\Delta}(t) = g(t)$, then the Cauchy (delta) integral of g is defined by $\int_{a}^{t} g(s)\Delta s := G(t) - G(a)$. It is known (see [3]) that if $g \in C_{rd}(\mathbb{T})$, then the Cauchy integral $G(t) := \int_{t_0}^{t} g(s)\Delta s$ exists for $t_0 \in \mathbb{T}$, and

R. P. Agarwal et al.

satisfies $G^{\Delta}(t) = g(t)$ for $t \in \mathbb{T}$. An improper (delta) integral can be defined by $\int_{a}^{\infty} f(t)\Delta t = \lim_{b\to\infty} \int_{a}^{b} f(t)\Delta t$.

The time scales chain rule (see [3, Theorem 1.87]) is given by

$$(g \circ \delta)^{\Delta}(t) = g'(\delta(d))\delta^{\Delta}(t) \quad \text{for } d \in [t, \sigma(t)],$$
(2.1)

where it is assumed that $g : \mathbb{R} \to \mathbb{R}$ is continuously differentiable and $\delta : \mathbb{T} \to \mathbb{R}$ is delta differentiable. A simple consequence of Keller's chain rule [3, Theorem 1.90] is

$$(u^{\gamma}(t))^{\Delta} = \gamma \int_{0}^{1} [hu^{\sigma}(t) + (1-h)u(t)]^{\gamma-1} dhu^{\Delta}(t)$$
(2.2)

and the integration by parts formula on time scales, for $a, b \in \mathbb{T}$, is given by

$$\int_{a}^{b} u(t)v^{\Delta}(t)\Delta t = \left[u(t)v(t)\right]_{a}^{b} - \int_{a}^{b} u^{\Delta}(t)v^{\sigma}(t)\Delta t.$$
(2.3)

The reverse Hölder inequality on time scales (see [12, Lemma 1]) is given by

$$\left(\frac{m}{M}\right)^{-1/\gamma\nu} \int_0^\infty |f(t)g(t)|\Delta t \ge \left[\int_0^\infty |f(t)|^\gamma \Delta t\right]^{1/\gamma} \left[\int_0^\infty |g(t)|^\nu \Delta t\right]^{1/\nu},$$
(2.4)

with $f, g \in C_{rd}(\mathbb{T}, \mathbb{R})$ satisfying $0 < m \le f(t)^{\gamma}/g(t)^{\nu} \le M < \infty$, for $t \in [0, \infty)_{\mathbb{T}}$, and $1/\gamma + 1/\nu = 1$.

We next state the time scales Fubini theorem due to Bibi et al. [2, Theorem 1.1].

LEMMA 2.1. Let (X, M, μ_{Δ}) and (Y, L, ν_{Δ}) be two finite-dimensional time scales measure spaces. If $f : X \times Y \to \mathbb{R}$ is a Δ -integrable function and if we define the functions

$$\varphi(y) = \int_X f(x, y) d\mu_{\Delta}(x) \quad \text{for } y \in Y,$$

and

$$\psi(x) = \int_Y f(x, y) \, d\nu_\Delta(y) \quad \text{for } x \in X,$$

then φ is Δ -integrable on Y and ψ is Δ -integrable on X and

$$\int_X d\mu_{\Delta}(x) \int_Y f(x, y) \, d\nu_{\Delta}(y) = \int_Y d\nu_{\Delta}(y) \int_X f(x, y) \, d\mu_{\Delta}(x).$$

Throughout the paper, we will assume (without mentioning it) that the functions in the statements of the theorems are nonnegative and rd-continuous and the integrals exist (finite and convergent).

3. Renaud-type inequalities

We state and prove our first main result which is the time scales version of (1.5).

THEOREM 3.1. Let \mathbb{T} be a time scale with $0 \in \mathbb{T}$ and let f be a decreasing function. If p > 1, then

$$\int_0^\infty \left(\frac{F(x)}{x}\right)^p \Delta x \ge \frac{p}{p-1} \int_0^\infty f^p(x) \Delta x,\tag{3.1}$$

where

$$F(x) = \int_0^x f(t) \Delta t.$$

PROOF. For $x \ge 0$, since *f* is a decreasing function,

$$F(x) = \int_0^x f(t)\Delta t \ge x f(x),$$

so

$$pf(x)F^{p-1}(x) \ge px^{p-1}f^p(x),$$

and as a result

$$\int_{0}^{x} pf(t)F^{p-1}(t)\Delta t \ge p \int_{0}^{x} t^{p-1}f^{p}(t)\Delta t.$$
(3.2)

By the time scales chain rule (2.2), since $F^{\Delta}(t) = f(t) > 0$,

$$(F^{p}(t))^{\Delta} = p \int_{0}^{1} [hF^{\sigma}(t) + (1-h)F(t)]^{p-1} dh F^{\Delta}(t)$$

$$\geq p \int_{0}^{1} [hF(t) + (1-h)F(t)]^{p-1} dh f(t) = pf(t)F^{p-1}.$$

Thus

$$F^p(x) = \int_0^x (F^p(t))^{\Delta} \Delta t \ge \int_0^x pf(t)F^{p-1}(t)\Delta t.$$

Using this in (3.2),

$$\int_0^\infty \left(\frac{F(x)}{x}\right)^p \Delta x \ge \int_0^\infty \frac{p}{x^p} \left(\int_0^x t^{p-1} f^p(t) \Delta t\right) \Delta x.$$
(3.3)

Applying Fubini's theorem on the right-hand side of (3.3) yields

$$\int_{0}^{\infty} \left(\frac{F(x)}{x}\right)^{p} \Delta x \ge \int_{0}^{\infty} \left(\int_{t}^{\infty} \frac{pt^{p-1}f^{p}(t)}{x^{p}} \Delta x\right) \Delta t.$$
(3.4)

Now, by the time scales chain rule (2.2),

$$(x^{1-p})^{\Delta} = (1-p) \int_0^1 [hx^{\sigma} + (1-h)x]^{-p} dh x^{\Delta}$$

= (1-p) $\int_0^1 \frac{dh}{[hx^{\sigma} + (1-h)x]^p}$
 $\ge (1-p) \int_0^1 \frac{dh}{[hx + (1-h)x]^p} = (1-p)x^{-p}$

[5]

Substituting this in (3.4) and observing that p > 1,

$$\int_0^\infty \left(\frac{F(x)}{x}\right)^p \Delta x \ge \int_0^\infty \left(pt^{p-1}f^p(t)\frac{x^{1-p}}{1-p}\Big|_t^\infty\right) \Delta t = \frac{p}{p-1}\int_0^\infty f^p(t)\Delta t,$$

which is the required inequality (3.1). This completes the proof.

REMARK 3.2. If $\mathbb{T} = \mathbb{N}$, then the inequality in Theorem 3.1 reduces to the discrete result

$$\sum_{n=1}^{\infty} n^{-p} A_n^p \ge \frac{p}{p-1} \sum_{n=1}^{\infty} a_n^p,$$

which is different from the discrete inequality (1.4) due to Renaud.

REMARK 3.3. If $\mathbb{T} = \mathbb{R}$, then the inequality in Theorem 3.1 reduces to the continuous result (1.5) due to Renaud.

REMARK 3.4. We note that Theorem 3.1 not only extends the discrete inequality (1.4) and its continuous counterpart (1.5) to an arbitrary time scale \mathbb{T} , but it also unifies the constant in these two results.

Next, we extend the reverse inequality (1.7) to an arbitrary time scale \mathbb{T} .

THEOREM 3.5. Let \mathbb{T} be a time scale with $0 \in \mathbb{T}$ and let f be a decreasing function with $\int_0^{\infty} f(t)\Delta t < \infty$. Set $F(x) = \int_x^{\infty} f(t)\Delta t$. If p > 1, then

$$\int_0^\infty \left(\int_x^\infty f(t)\Delta t\right)^p \Delta x \ge (kp)^p \int_0^\infty x^p f^p(x)\Delta x,\tag{3.5}$$

where

$$k \equiv \left(\frac{m}{M}\right)^{(p-1)/p^2} \quad and \quad 0 < m \le \frac{x^p f^p(x)}{F^p(\sigma(x))} \le M < \infty \quad for \ x \in [0,\infty)_{\mathbb{T}}.$$

PROOF. By integration by parts with $v^{\sigma}(x) = F^{p}(\sigma(x))$ and $u^{\Delta}(x) = 1$,

$$\int_0^\infty F^p(\sigma(x))\Delta x = xF^p(x)|_0^\infty + \int_0^\infty x(-F^p(x))^\Delta \Delta x$$

Since $\lim_{x\to 0^+} x F^p(x) = 0$ (by assumption $\int_0^\infty f(t)\Delta t < \infty$) and $x F^p(x) \ge 0$ for x > 0,

$$\int_0^\infty F^p(\sigma(x))\Delta x \ge \int_0^\infty x(-F^p(x))^\Delta \Delta x.$$
(3.6)

Using the time scales chain rule (2.1) yields

$$-(F^p(x))^{\Delta} = -pF^{p-1}(d)(F^{\Delta}(x)),$$

where $d \in [x, \sigma(x)]$. Since $F^{\Delta}(x) = -f(x) \le 0$ and $d \le \sigma(x)$,

$$-(F^{p}(x))^{\Delta} = \frac{pf(x)}{F^{1-p}(d)} \ge pF^{p-1}(\sigma(x))f(x).$$

[6]

П

Substituting this in (3.6) gives

$$\int_0^\infty F^p(\sigma(x))\Delta x \ge p \int_0^\infty x F^{p-1}(\sigma(x))f(x)\Delta x.$$
(3.7)

Applying the reverse Hölder inequality (2.4) to the term $\int_0^\infty x F^{p-1}(\sigma(x)) f(x) \Delta x$ with indices $\gamma = p > 1$ and $\nu = p/(p-1)$,

$$\int_{0}^{\infty} xF^{p-1}(\sigma(x))f(x)\Delta x$$

$$\geq \left(\frac{m}{M}\right)^{(p-1)/p^{2}} \left\{ \int_{0}^{\infty} [xf(x)]^{p}\Delta x \right\}^{1/p} \left\{ \int_{0}^{\infty} [F^{p-1}(\sigma(x))]^{p/(p-1)}\Delta x \right\}^{(p-1)/p}$$

$$= k \left(\int_{0}^{\infty} f^{p}(x)x^{p}\Delta x \right)^{1/p} \left(\int_{0}^{\infty} F^{p}(\sigma(x))\Delta x \right)^{(p-1)/p}.$$
(3.8)

Substituting (3.8) into (3.7) and raising both sides to the *p*th power,

$$\left(\int_0^\infty F^p(\sigma(x))\Delta x\right)^p \ge (kp)^p \left(\int_0^\infty f^p(x)x^p\Delta x\right) \left(\int_0^\infty F^p(\sigma(x))\Delta x\right)^{p-1},$$

which is the required inequality (3.5). This completes the proof.

REMARK 3.6. In the proof of Theorem 3.5, the condition $\int_0^\infty f(t)\Delta t < \infty$ could be replaced with $\lim_{x\to 0^+} x\left(\int_x^\infty f(t)\Delta t\right)^p = 0$. With this condition, (3.6) still holds.

4. Bennett-type inequalities

In this section, we state and prove the time scales version of Bennett's inequalities with general kernels. For simplicity, we write

$$G(a) = \int_0^a K(x, y)g(y)\Delta y$$
 and $F(y) = \int_0^y K(x, t)\Delta t$,

where $K(x, y) \ge 0$ for 0 < x, y < a.

THEOREM 4.1. Let \mathbb{T} be a time scale with $0, a \in \mathbb{T}$ and let g be a decreasing function. If $p \ge 1$, then

$$\left(\int_0^a \left(\int_0^t K(x, y)g(y)\Delta y\right)^p\right)^{1/p}\Delta x \ge \lambda \left(\int_0^a |g(x)|^p \Delta x\right)^{1/p},\tag{4.1}$$

where

$$\lambda^{p} = \inf_{0 < t < a} \int_{0}^{a} \frac{1}{t} \Big(\int_{0}^{t} K(x, y) \Delta y \Big)^{p} \Delta x.$$
(4.2)

PROOF. For x, y > 0, since g is a decreasing function,

$$G(y) = \int_0^y K(x,t)g(t)\Delta t \ge g(y) \int_0^y K(x,t)\Delta t,$$

so

452

$$\left(\int_0^y K(x,t)g(t)\Delta t\right)^{p-1}K(x,y)g(y) \ge g^p(y)\left(\int_0^y K(x,t)\Delta t\right)^{p-1}K(x,y),$$

and as a result

$$\int_{0}^{a} \left(\int_{0}^{y} K(x,t)g(t)\Delta t \right)^{p-1} K(x,y)g(y)\Delta y$$

$$\geq \int_{0}^{a} g^{p}(y) \left(\int_{0}^{y} K(x,t)\Delta t \right)^{p-1} K(x,y)\Delta y.$$
(4.3)

Using the time scales chain rule (2.2), since $G^{\Delta}(y) = K(x, y)g(y) \ge 0$,

$$(G^{p}(y))^{\Delta} = p \int_{0}^{1} [hG^{\sigma}(y) + (1-h)G(y)]^{p-1} dh G^{\Delta}(y)$$

$$\geq p \int_{0}^{1} [hG(y) + (1-h)G(y)]^{p-1} dh G^{\Delta}(y) = pG^{p-1}(y)G^{\Delta}(y).$$

Thus

$$G^{p}(a) = \int_{0}^{a} (G^{p}(y))^{\Delta} \Delta y \ge \int_{0}^{a} p G^{p-1}(y) G^{\Delta}(y) \Delta y$$

and, using this in (4.3),

$$\left(\int_0^a K(x,y)g(y)\Delta y\right)^p \ge p \int_0^a g^p(y) \left(\int_0^y K(x,t)\Delta t\right)^{p-1} K(x,y)\Delta y.$$
(4.4)

Now using the time scales chain rule (2.2), since $F^{\Delta}(y) = K(x, y) \ge 0$,

$$(F^{p}(y))^{\Delta} = p \int_{0}^{1} [hF^{\sigma}(y) + (1-h)F(y)]^{p-1} dh F^{\Delta}(y)$$

$$\geq p \int_{0}^{1} [hF(y) + (1-h)F(y)]^{p-1} dh F^{\Delta}(y) = pF^{p-1}(y)F^{\Delta}(y),$$

and so

$$F^{p}(a) = \int_{0}^{a} (F^{p}(y))^{\Delta} \Delta y \ge \int_{0}^{a} p F^{p-1}(y) F^{\Delta}(y) \Delta y$$

Integrating by parts with $u = g^p(y)$ and $v^{\Delta} = F^{p-1}F^{\Delta}$ gives

$$\begin{split} \int_{0}^{a} g^{p} F^{p-1} F^{\Delta} \Delta y &= \frac{1}{p} g^{p}(y) F^{p}(y) |_{0}^{a} - \frac{1}{p} \int_{0}^{a} (g^{p}(y))^{\Delta} F^{p}(\sigma(y)) \Delta y \\ &= \frac{1}{p} \Big(g^{p}(a) F^{p}(a) - \int_{0}^{a} (g^{p})^{\Delta} F^{p}(\sigma(y)) \Delta y \Big), \end{split}$$

and substituting this in (4.4) and integrating by parts again gives

$$\int_0^a \left(\int_0^a K(x, y)g(y)\Delta y \right)^p \Delta x$$

$$\geq g^p(a) \int_0^a \left(\int_0^a K(x, t)\Delta t \right)^p \Delta x - \int_0^a \int_0^a (g^p(y))^\Delta F^p(\sigma(y))\Delta y\Delta x.$$

Applying Fubini's theorem to the last term on the right-hand side,

$$\int_0^a \left(\int_0^a K(x, y)g(y)\Delta y \right)^p \Delta x$$

$$\geq g^p(a) \int_0^a \left(\int_0^a K(x, t)\Delta t \right)^p \Delta x - \int_0^a (g^p(y))^\Delta \int_0^a \left(\int_0^{\sigma(y)} K(x, t)\Delta t \right)^p \Delta x \Delta y.$$

Now, with λ as in (4.2),

$$\int_0^a \left(\int_0^a K(x, y)g(y)\Delta y\right)^p \Delta x \ge ag^p(a)\lambda^p - \lambda^p \int_0^a \sigma(y)(g^p(y))^\Delta \Delta y.$$

Using the integration by parts formula (2.3) with $v^{\sigma} = \sigma(y)$ and $u^{\Delta} = (g^{p}(y))^{\Delta}$,

$$\begin{split} \int_0^a \left(\int_0^a K(x, y) g(y) \Delta y \right)^p \Delta x &\geq a g^p(a) \lambda^p - \lambda^p \Big(y g^p(y) |_0^a - \int_0^a g^p(y) \Delta y \Big) \\ &= \lambda^p \int_0^a g^p(y) \Delta y, \end{split}$$

and so we obtain inequality (4.1). This completes the proof.

REMARK 4.2. As special cases of Theorem 4.1, we have the following results.

- (1) If $\mathbb{T} = \mathbb{N}$, then the result in Theorem 4.1 reduces to the discrete result (1.8) due to Bennett.
- (2) If $\mathbb{T} = \mathbb{R}$, then the result in Theorem 4.1 reduces to the continuous result (1.9) due to Bennett.

References

- [1] G. Bennett, 'Lower bounds for matrices', *Linear Algebra Appl.* 82 (1986), 81–98.
- [2] R. Bibi, M. Bohner, J. Pečarić and S. Varosanec, 'Minkowski and Beckenbach–Dresher inequalities and functionals on time scales', J. Math. Inequal. 3 (2013), 299–312.
- [3] M. Bohner and A. Peterson, *Dynamic Equations on Time Scales: An Introduction with Applications* (Birkhäuser, Boston, MA, 2001).
- [4] E. T. Copson, 'Note on series of positive terms', J. Lond. Math. Soc. 2 (1927), 9–12.
- [5] G. H. Hardy, 'Notes on a theorem of Hilbert', Math. Z. 6 (1920), 314–317.
- [6] G. H. Hardy, 'Notes on some points in the integral calculus (LX). An inequality between integrals', *Messenger Math.* 54 (1925), 150–156.
- [7] G. H. Hardy, J. E. Littlewood and G. Pólya, *Inequalities*, 2nd edn (Cambridge University Press, Cambridge, 1952).
- [8] R. Lyons, 'A lower bound on the Cesàro operator', Proc. Amer. Math. Soc. 86(4) (1982), 694.
- M. Milman, 'A note on reversed Hardy inequalities and Gehring's lemma', *Commun. Pure Appl. Math.* 50(4) (1997), 311–315.
- [10] P. Řehák, 'Hardy inequality on time scales and its application to half-linear dynamic equations', *J. Inequal. Appl.* 5 (2005), 495–507.
- [11] P. F. Renaud, 'A reversed Hardy inequality', Bull. Aust. Math. Soc. 34(2) (1986), 225–232.

R. P. Agarwal et al.

- [12] A. Tuna and S. Kutukcu, 'Some integral inequalities on time scales', *Appl. Math. Mech.* 29(1) (2008), 23–29 (English Ed.).
- [13] J. Xiao, 'A reverse BMO-Hardy inequality', *Real Anal. Exchange* 25(2) (1999), 673–678.

R. P. AGARWAL, Department of Mathematics, Texas A&M University–Kingsville, Texas 78363, USA e-mail: agarwal@tamuk.edu

R. R. MAHMOUD, Department of Mathematics, Faculty of Science, Fayoum University, Fayoum, Egypt e-mail: rrm00@fayoum.edu.eg

D. O'REGAN, School of Mathematics, Statistics and Applied Mathematics, National University of Ireland, Galway, Ireland e-mail: donal.oregan@nuigalway.ie

S. H. SAKER, Department of Mathematics, Faculty of Science, Mansoura University, Mansoura, Egypt e-mail: shsaker@mans.edu.eg